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QUESTION 1

Which of these is not a component of lipids? 

A. iron 

B. hydrogen 

C. oxygen 

D. carbon 

Correct Answer: A 

 

QUESTION 2

Which of these is a disease not caused by bacteria? 

A. cholera 

B. syphilis 

C. diphtheria 

D. Parkinson\\'s 

Correct Answer: D 

 

QUESTION 3

What is the main function of calcitonin? 

A. Increasing the absorption of calcium in the heart. 

B. Decreasing the calcium concentration in the blood. 

C. Preventing the increase in calcium in the bone marrow. 

D. Inhibiting the processing of calcium in the muscle cells. 

E. None of the above 

Correct Answer: B 

 

QUESTION 4

Write the number 1906 in Roman numerals. 

A. MCMLXVIII 

HESI VCE Dumps | HESI Study Guide | HESI Exam Questions                                2 / 6

https://www.pass4itsure.com/hesi.html
https://www.pass4itsure.com/hesi.html
https://www.pass4itsure.com/hesi.html


https://www.pass4itsure.com/hesi.html
2024 Latest pass4itsure HESI PDF and VCE dumps Download

B. MCMXVI 

C. MCMVI 

D. XIXVI 

Correct Answer: C 

 

QUESTION 5

|7| + |-2 | = ? 

Note: This problem is the number -2 within an absolute value sign, not the number -21. 

A. 0 

B. 14 

C. 5 

D. 9 

Correct Answer: D 

 

QUESTION 6

Which of these is the best definition of the word chide? 

A. scold 

B. whisper 

C. pick 

D. yell 

Correct Answer: A 

 

QUESTION 7

Which of these sentences contains a dependent clause? 

A. Although she is hungry, she is not going to eat. 

B. She told me she was hungry but wouldn\\'t eat more. 

C. She is hungry but she\\'s not going to eat. 

D. She said she is feeling hungry, but she is not going to eat. 

Correct Answer: A 
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QUESTION 8

Which is not a part of the electrical conduction system of the heart? 

A. Purkinje fibers 

B. bundle of His 

C. AV Node 

D. chordae tendineae 

Correct Answer: D 

 

QUESTION 9

Which of the following processes reduces cells originally classified as diploid to haploid? 

A. Meiosis. 

B. Mitosis. 

C. Both meiosis and mitosis. 

D. Neither meiosis and mitosis 

Correct Answer: A 

 

QUESTION 10

What is the best description for the word therapeutic? 

A. understanding 

B. remedial 

C. palliative 

D. concurrent 

Correct Answer: B 

 

QUESTION 11

What is the relationship between sarcomeres and muscle cells? 

A. Sarcomeres are muscle cells. 

B. Sarcomeres contain muscle cells. 
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C. Muscle cells contain myofibrils, which in turn are made up of sarcomeres. 

D. Muscle cells contain sarcomeres, which in turn are made up of myofibrils. 

Correct Answer: C 

 

QUESTION 12

What is 0.85 × 0.65? 

A. 0.5520 

B. 0.5252 

C. 0.5525 

D. 0.2552 

Correct Answer: C 

 

 

QUESTION 13

A car dealer offers many 10 different brands of cars for sale. The average daily sales for the dealer are: 

Honda - 2 models, sells 20 of each model per day Toyota - 3 models, sells 15 of each model per day Kia - 1 model, sells
7 each day Ford - 4 models, sells 6 of each model per day 

How many total cars are sold per day? 

A. 48 

B. 29 

C. 11.6 

D. 116 

Correct Answer: D 

 

QUESTION 14

Which of these shows the correct order of the flow of waste through the large intestine? 

A. cecum, ascending colon, transverse colon, descending colon, sigmoid colon 

B. sigmoid colon, ascending colon, descending colon, transverse colon, cecum 

C. ascending colon, descending colon, sigmoid colon, transverse colon, cecum 
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D. cecum, ascending colon, descending colon, transverse colon, sigmoid colon 

Correct Answer: A 

 

QUESTION 15

A rat can finish a maze in about 3 minutes. If a small backpack is put on the rat so it reduces its speed by 50%, how
much longer will it take the rat to finish the maze? 

A. 3 minutes 

B. 6 minutes 

C. 10 minutes 

D. 12 minutes 

Correct Answer: A 
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